Sl. No:	Item Description	Qty	Unit	Rate / Unit	Rate in Words	Amount
Last I	Date of Submission: 27/05/2025				Time of Comp	letion: 30 Days
1	1.17.12 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.3 x 2.5 sq. Mm	25	М	89.49	Eighty Nine Rupees, Forty Nine Paisa only	2237.25
2	1.17.3 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.3 X 1.5 sq.mm	53	M	63.73	Sixty Three Rupees, Seventy Three Paisa only	3377.69
3	90.6.5.11 Supply and drawing the following sizes of multi-core PVC insulated & FRLS PVC sheathed 650/1100 V grade copper conductor round flexible cables conforming to IS 694 part I 1960 in the existing surface / recess conduit as required including giving necessary connections of the following sizes.3 core 1.50 sq Mm	13	М	82.69	Eighty Two Rupees, Sixty Nine Paisa only	1074.97
4	90.6.5.12 Supply and drawing the following sizes of multi-core PVC insulated & FRLS PVC sheathed 650/1100 V grade copper conductor round flexible cables conforming to IS 694 part I 1960 in the existing surface / recess conduit as required including giving necessary connections of the following sizes.3 core 2.50 sq Mm	12	М	109.69	One Hundred and Nine Rupees, Sixty Nine Paisa only	1316.28
5	90.6.10.1 Supply and fixing of following sizes of light gauge PVC conduit along with accessories in surface/recess including cutting the wall and making good the same in case of recessed conduit as required 20 mm	93	М	97.71	Ninety Seven Rupees, Seventy One Paisa only	9087.03

6	90.10.3.22 Supply and Fixing the following modular switches & accessories in the existing front plates and giving necessary connections as required (RoHS compliant)6A 3 pin plug top	2	Е	87.85	Eighty Seven Rupees, Eighty Five Paisa only	175.70
-	90.10.3.23 Supply and Fixing the following modular switches & accessories in the existing front plates and giving necessary connections as required (RoHS compliant)16A 3 pin plug top	3	E	122.85	One Hundred and Twenty Two Rupees, Eight Five Paisa only	368.55
8	90.10.1.3 Supply & Fixing the following types/ sizes of boxes suitable for modular accessories in surface/ recess including making good the damages, colour washing etc as required (RoHS compliant)3 module moulded plastic box on surface	3	E	251.18	Two Hundred and Fifty One Rupees, Eighteen Paisa only	753.54
9	1.28.2 Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. As required.3 Module	3	E	151.86	One Hundred and Fifty One Rupees, Eighty Six Paisa only	455.58
10	90.10.1.5 Supply & Fixing the following types/ sizes of boxes suitable for modular accessories in surface/ recess including making good the damages, colour washing etc as required (RoHS compliant)6 module moulded plastic box on surface	4	E	283.96	Two Hundred and Eighty Three Rupees, Ninety Six Paisa only	1135.84
11	1.28.4 Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. As required.6 Module	4.000	Е	197.96	One Hundred and Ninety Seven Rupees, Niney Six Paisa only	791.84
12	1.23.1 Supplying and fixing following piano type switch / socket on the existing switch box/ cover including connections etc. as required.5/6 amps switch	6.000	E	54.24	Fifty Four Rupees, Twenty Four Paisa only	325.44

13	1.23.4 Supplying and fixing following piano type switch / socket on the existing switch box/ cover including connections etc. as required.3 pin 5/6 amp socket outlet	2.000	E	69.15	Sixty Nine Rupees, Fifteen Paisa only	138.30
14	1.28.1 Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. As required.1 or 2 Module	19.000	E	135.59	One Hundred and Thirty Five Rupees, Fifty Nine Paisa only	2576.21
15	90.10.1.2 Supply & Fixing the following types/ sizes of boxes suitable for modular accessories in surface/ recess including making good the damages, colour washing etc as required (RoHS compliant)2 module moulded plastic box on surface	19.000	E	245.18	Two Hundred and Forty Five Rupees, Eighteen Paisa only	4658.42
16	90.10.1.4 Supply & Fixing the following types/ sizes of boxes suitable for modular accessories in surface/ recess including making good the damages, colour washing etc as required (RoHS compliant)4 module moulded plastic box on surface	3.000	E	256.18	Two Hundred and Fifty Six Rupees, Eighteen Paisa only	768.54
17	1.28.3 Supplying and fixing following Modular base & cover plate on existing modular metal boxes etc. As required.4 Module	3.000	Е	164.06	One Hundred and Sixty Four Rupees, Six Paisa only	492.18
18	1.25 Supplying and fixing two module stepped type electronic fan regulator on the existing modular plate switch box including connections but excluding modular plate etc. as required	23.000	Е	406.77	Four Hundred and Six Rupees, Seventy Seven Paisa only	9355.71
19	1.58 Supplying and fixing PVC batten/ angle holder including connection etc. as required	10.000	E	107.12	One Hundred and Seven Rupees, Twelve Paisa only	1071.20

20	1.24.1 Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.5/6 amps switch	8	E	101.69	One Hundred and One Rupees, Sixty Nine Paisa only	813.52
21	1.24.3 Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.15/16 amp switch	3	Е	155.93	One Hundred and Fifty Five Rupees, Ninety Three Paisa only	467.79
22	1.24.4 Supplying and fixing following modular switch/ socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.3 pin 5/6 amp socket outlet	8	E	131.52	One Hundred and Thirty One Rupees, Fifty Two Paisa only	1052.16
23	1.24.5 Supplying and fixing following modular switch/socket on the existing modular plate & switch box including connections but excluding modular plate etc. as required.6 pin 15/16 amp socket outlet	3	E	207.45	Two Hundred and Seven Rupees, Forty Five Paisa only	622.35
24	Od233768/2024_2025 Supply of 20 W linear LED T8 tube (RoHS compliant) with extruded aluminium body, PC diffuser and inbuilt driver with double sided connection suitable for br>continuous operation on 230 V, 50 Hz AC supply and having THD <10%, power br>factor >0.98 etc as required. (Make- Crompton-LTT8-20, Philips or Havells)	14	Е	493.64	Four Hundred and Ninety Three Rupees, Sixty Four Paisa only	6910.96
25	Od233769/2024_2025 Supply and fixing of the following item for the ceiling fan by replacing the existing old capacitor as Required. <pre>capacitor</pre>	5	Е	41.68	Forty One Rupees, Sixty Eight Paisa only	208.40

26	Od233770/2024_2025 Supply of industrial box type luminaire made of CRCA sheet with 0.50 mm thickness suitable for single T8 LED tube as required. (Make: Crompton-IGP161LT8-16, Philips, Havells or Wipro)	14	Е	348.68	Three Hundred and Forty Eight Rupees, Sixty Eight Paisa only	4881.52
27	Od233772/2024_2025 Supply and providing BEE rated 9W LED bulb (B22 / E27) in the existing PVC batten / angle holder as Required	14	E	149.85	One Hundred and Forty Nine Rupees, Eighty Five Paisa only	2097.90
28	Od233754/2024_2025 Supply and installation of LED flood light fixture with minimum IP 65, IK 07 protection and 3000K, CRI >70 with pressure die cast aluminium housing and toughened glass diffuser with flood light optics. The light fixture must have a system lumen output of minimum 9000 lumens and a minimum system efficacy of 90 lm/W, having maximum power consumption of 100 W,The luminaire shall meet IP65 or higher with THD < 20% and PF > 0.9.Make: Philips BVP182 LED100 WW FG WB 100W or equivalent from approved make list.	1	E	7109.88	Seven Thousand One Hundred and Nine Rupees, Eighty Eight Paisa only	7109.88
29	Od233782/2024_2025 Supply of 300/305 mm sweep Light Duty Exhaust fan in metal frame working on 230 V A/C as Required.	1	E	1456.99	One Thousand Four Hundred and Fifty Six Rupees, Ninety Nine Paisa only	1456.99
30	1.50.1 Installation of exhaust fan in the existing opening, including making good the damage connection testing, commissioning etc. as required. Upto 450 mm sweep	1	E	431.18	Four Hundred and Thirty One Rupees, Eighteen Paisa only	431.18

31	Od233783/2024_2025 Supply of 1200 mm sweep,BEE 5 star rated, ceiling fan with Brush Less Direct Current (BLDC) Motor, 3 nos. blades, 30 cm long down rod, 2 nos. canopies, shackle kit, safety rope, copper winding, 2 Power Factor not less than 0.9, Air delivery minimum 2 15 CMM, electronic regulator unit for speed control and all Remaining bolts, washers, etc, bolts, washers, etc, complete as required with minimum 2 Year Warranty. (Item Code: Atomberg EFFICIO-Step Regulator type)	4	Е	3105	Three Thousand One Hundred and Five Rupees only	12420.00
32	1.44 Installation, testing and commissioning of ceiling fan, including wiring the down rods of standardlength 1 (upto 30 cm) with 1.5 sq. mm FRLS PVC insulated, recopper conductor, single core cable etc.as required.	4	No	203.39	Two Hundred and Three Rupees, Thirty Nine Paisa only	813.56
33	90.10.3.15 Supply and Fixing the following modular switches & accessories in the existing front plates and giving necessary connections as required (RoHS i compliant)32A DP switch with indicator	1	Е	565.54	Five Hundred and Sixty Five Rupees, Fifty Four Paisa only	565.54
34	90.10.3.33 Supply and Fixing the following modular switches & accessories in the existing front plates and giving necessary connections as required (RoHS compliant)25A 3pin Shuttered socket	1	E	316.69	Three Hundred and Sixteen Rupees, Sixty Nine Paisa only	316.69
35	1.17.22 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel/ PVC conduit as required.4 x 4 sq. Mm	10	М	185.76	One Hundred and Eighty Five Rupees, Seventy Six Paisa only	1857.60

	Od233792/2024_2025 Supplying and drawing following sizes of FRLS PVC insulated copper conductor, single core cable in the existing surface / recessed steel / PVC conduit as required. steel / PVC conduit as required.	10	М	41.17	Forty One Rupees, Seventeen Paisa only	411.70	
37	Od233793/2024_2025 Supplying of 400 mm sweep oscillating type wall mounting fan having 3-speed control, oscillation control at bottom and suitable for operation on single phase 230 V, 50 Hz AC supply complete with continuous duty motor, chrome plated front and rear guards and all other accessories as required. (Make- Crompton, Havells, Orient or Almonard)	1	Е	1656.78	One Thousand Six Hundred and Fifty Six Rupees, Seventy Eight Paisa only	1656.78	
	Т	TOTAL:	1			84254.79	
	GRAND TOTAL after round off:						
	(Rupees Eighty Four	thousand	Two hun	dred and Fi	fty Five Only)		

All rates are Exclusive of 18 % GST

I / We hereby agree to execute the work:-

1)	at	estimate	rate.
-/			

- 2)% below the estimate rate.
- 3)% above the estimate rate.

Contractor

Assistant Executive Engineer I

Johns